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Quiz 2 :: Math 111 :: October 2, 2015

|
A
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1. One positive number is one-fifth of another number. The difference between the two numbers

m(41s)= q2 */

(b) Two numbers differ by three. The sum of their squares is 65. Use algebra to find the

is 92. Find the'nw. ‘L = —_ _ g S
L{L: £ m | M- = 9L Pm= L
‘o= 1S

l M= lg m = 47 W\_‘>
(
n -~ (/g) | - 1y =
i m(1-Ly= 92
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2. A circular Zen-garden has area 1007ft?>. What is the circumference of the garden?

?1/(2': ﬂ': IU\')}Y/ C= B‘WI

10

= lo

3. An open box is to be made from a 8 x 4’ sheet of aluminum by removing square sections

from the corners and folding up the sides.
(a) Using z as the length of the side of the square removed, What is the formula for the

volume of the box.
(b) What is the area of the base of the box?

X .
. V= ﬁvaL N ouvVv 6\)7‘ - X

AT [~ :
g V‘(‘i—lx) (8-22) (+) E
Shp L= 42+

{L’-A
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4. Find all real solutions to:

(a)
m*—15z-10 = Q k= (R 0 (I.T\t- "\(’")Z"Oﬁ

&x2+ lrx +¢ =0 2T
whawe  G=T

b=-S

c= -lo

(b)

22 — 8z — 20 = 0 by completing the square

N

N
z_ +l =
P %7\9 20 +16
(DL—Ll) - 16
x-4 =26
x o= 426

_ —
AT -2 \
(c)

x — 5y — 14 = 0 by factoring
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5. Solve the inequality

(b)
20+ 1< bx+7
-1- -1
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(e)

22> —10x + 50

(f)
22 — 16| < 12
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1. One positive number is one-fifth of another number. The difference between the two numbers
is 92. Find the numbers.

n= é.W\ M-n = 92
W M- twm = a2

()= a2y

(b) Two numbers differ by three. The sum of their squares is 65. Use algebra to find the
numbers.

n= 7)3:‘115‘“'; Mz s

n-w'=1% n24>W3 = (S
n= 34m lz N N
_(C (3+wm) + m = (S

4+ [ A = L% Yot by =Sk
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Ty = |60 C= 2Tty
"z 160 "
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3. An open box is to be made from a 8 x 4’ sheet of aluminum by removing square sections

from the corners and folding up the sides.
(a) Using = as the length of the side of the square removed, What is the formula for the

volume of the box. _ _
(b) What is the area of the base of the box? \f = Lwih= X (%— 2+) ( K-2 )C)
. B X A=RLw= (“t"l*) (-2
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4. Find all real solutions to:
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5. Solve the inequality

(a)

20 +1<5H
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(b)

20+ 1< b5x+7
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